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1. Complete with the comparative:

a) The green car is than the red car. (small)
b) The red caris than the green car. (big)
c) The green car is than the red car. (cheap)
d) The red caris than the green car. (expensive)
e) | think that the red car is than the green one. (fast)
f) The green caris than the red one. (slow)
g) The red car is much than the green one. (good)
h) The green car is much than the red one. (bad)
i) Thered caris than the green one. (modern)
j) Driving the green car is than driving the red one. (dangerous)
k) Driving the red car is than driving the green one. (safe)
I) The green car is than the red one. (dirty)
m) The red car is than the green one. (clean)
n) The red caris than the green one. (heavy)
2. Compare these two animals: 1. The bear

the cheetah (friendly).
2. The cheetah
the bear (aggressive).
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